

μ

$$f(x) = \log(\log(x-1)).$$

)

μ f.

)

$$3f(101) + 2f(1001) = f(10001) + \log 18.$$

)

$$10^{f(5)} + 10^{f(7)} - 10^{f(9)} = 10^{f(4)}$$

)

μ

μ

f μ

x x.

)

$$f(x+7) - f(x+1) > \log 2.$$

)

$$10^{f(x)} + f(x) = 1.$$

$$) \quad f \quad x-1 > 0 \Leftrightarrow x > 1 \quad \log(x-1) > 0 \Leftrightarrow x-1 > 1 \Leftrightarrow x > 2 . \quad D_f = (2, +\infty)$$

$$\begin{aligned} ) \quad & 3f(101) + 2f(1001) = f(10001) + \log 18 \Leftrightarrow \\ & 3\log(\log 100) + 2\log(\log 1000) = \log(\log 10000) + \log 18 \Leftrightarrow \\ & 3\log(\log 10^2) + 2\log(\log 10^3) = \log(\log 10^4) + \log 18 \Leftrightarrow \\ & 3\log 2 + 2\log 3 = \log 4 + \log 18 \Leftrightarrow \\ & \log 2^3 + \log 3^2 = \log(4 \cdot 18) \Leftrightarrow \\ & \log 8 + \log 9 = \log 72 \Leftrightarrow \\ & \log(8 \cdot 9) = \log 72 \end{aligned}$$

$$\begin{aligned} ) \quad & 10^{f(5)} + 10^{f(7)} - 10^{f(9)} = 10^{f(4)} \Leftrightarrow \\ & 10^{\log(\log 4)} + 10^{\log(\log 6)} - 10^{\log(\log 8)} = 10^{\log(\log 3)} \Leftrightarrow \\ & \log 4 + \log 6 - \log 8 = \log 3 \Leftrightarrow \\ & \log(4 \cdot 6) - \log 8 = \log 3 \Leftrightarrow \log \frac{24}{8} = \log 3 \end{aligned}$$

$$\begin{aligned} ) \quad & f(x) = 0 \Leftrightarrow \log(\log(x-1)) = 0 \Leftrightarrow \log(x-1) = 1 \Leftrightarrow x-1 = 10 \Leftrightarrow x = 11 . \\ & C_f \quad \mu \quad x \quad x \quad \mu \quad (11, 0) \end{aligned}$$

$$) \quad \begin{cases} x+7 > 2 \\ x+1 > 2 \end{cases} \Leftrightarrow \begin{cases} x > -5 \\ x > 1 \end{cases} \Rightarrow x > 1 .$$

$$f(x+7) - f(x+1) > \log 2 \Leftrightarrow \log(\log(x+6)) - \log(\log(x)) > \log 2 \Leftrightarrow$$

$$\log \frac{\log(x+6)}{\log x} > \log 2 \Leftrightarrow \frac{\log(x+6)}{\log x} > 2 \Leftrightarrow \log(x+6) > 2\log x \Leftrightarrow$$

$$\log(x+6) > \log x^2 \Leftrightarrow x^2 < x+6 \Leftrightarrow x^2 - x - 6 < 0 \Leftrightarrow -2 < x < 3 \quad x > 1, \quad x \in (1, 3) .$$

$$) \quad 10^{f(x)} + f(x) = 1 \Leftrightarrow 10^{\log(\log(x-1))} + \log(\log(x-1)) = 1 \Leftrightarrow \log(x-1) + \log(\log(x-1)) = 1 \Leftrightarrow$$

$$\log((x-1)\log(x-1)) = \log 10 \Leftrightarrow (x-1)\log(x-1) = 10 \cdot 1 \Leftrightarrow (x-1)\log(x-1) = 10 \log 10 \quad (1)$$

$$g(x) = x \log x, \quad x > 1$$

$$x_1, x_2 \in (1, +\infty) \quad \mu \quad x_1 < x_2, \quad \log x_1 < \log x_2 \quad \mu \quad \mu \quad \mu ,$$

$$(x_1, x_2 > 1 \Rightarrow \log x_1 > 0, \log x_2 > 0) \quad \mu : x_1 \log x_1 < x_2 \log x_2 \Leftrightarrow g(x_1) < g(x_2) \Rightarrow g \nearrow (1, +\infty) .$$

$$(1) \quad : g(x-1) = g(10) \Leftrightarrow x-1 = 10 \Leftrightarrow x = 11$$